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1.

Bu testin cevaplanni, cevap anahtannda
YABANCI DIL siitununa isaretleyiniz.

Jane : Is Mr. Smith in his office?
Secretany © ...ocooviiiiii

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) Yes, heis.

B) Yes, he can.
C) No, he doesn't.
D) No, he hasn't.
E) Yes, he does.

Bob : How is your wife?
Bill S armmasimng

Which of the following completes the dialogue
above?

Asadidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) Heis very il.

B) She is my wife.

C) She s fine.

D) Hername is Mary.
E) Thisis my wife.

Mary : Shall we go out tonight?
= oo R

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) Yes, you are.

B) Certainly, you may.
C) [I'm afraid you can't.
D) Yes, let's.

EY No, it is not.
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A

Which of the following completes the dialogue
above?

Bob %ol a pencil?
Jane : Yes, | have.

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) Can you

B) Have you got
C) Are you

D) Has he got

E) Does she have

Where is Brenda?

Which of the following cannot be the answer
for the above question?

Asagidakilerden hangisi yukaridaki sorunun
cevabi olamaz?

A) Sheisin her room.

B) She is at school.

C) Sheisin London.

D) She has gone to the hospital.
E) She isthirteen years old.

Bill : Will you buy that expensive car?
Bob .

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konugsmayi dogru olarak tamamlar?

A) No, you can't.
B) Yes, we are.
C) No, you aren't.

D) Yes, | wil.
E) Yes, I'm.
Bob:.....

Mary : It is 20 kg.

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konugsmayi dogru olarak tamamlar?

A) How heavy is your luggage?
) How long is the river?

y How old is your sister?

) How high is it?

) How are you today?

moO o
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10.

11.

(on the phone)

Bill : Can | speak to Mr. Black please?
Secretany  ....oooeveviiiiniiii

Bill : It's all nght. I'll call back later.

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) Can you spell your name?
B) I'msomy he's out.

C) This is Francis speaking.
D) Can | have your name?
E) She isin her office.

Jack : What is that coat made of?
Salesman sk

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konusmayi dogru olarak tamamlar?

A) It is big enough for you.

B) Itistoo expensive for you to buy.
C) It comes from India.

D) It is made of wool.

E) It looks nice on you.

It is too hot for .............. tennis in the momings.

Which of the
sentence above?

following completes the

Asagidakilerden hangisi yukaridaki cumleyi
dogru olarak tamamlar?

A) to play

B) play

C) playing

D) has played
E) will play

- T GREp—— his expensive watch in the

cinema last night.

Which of the
sentence above?

following completes the

Asagidakilerden hangisi yukaridaki cumleyi
dogru olarak tamamlar?

A) loses

B) have lost
C) losing

D) lost

E) lose

A
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12.

13.

14.

15.

A

Which of the following completes the dialogue
above?

Jane : Why do you like dogs?
BOD Horescrcrmsmensimripmpiss s s

Asgagidakilerden hangisi yukaridaki
konusmayi dogru olarak tamamlar?

A) Because itis too expensive.
B) It has seat belts.

C) | don't like them at all.

D) It looks like the right size.

E) Because they are friendly.

Bob : What is your nationality?
Rhil's srssmenmmmrrinssmoian ;

Which of the following completes the dialogue
above?

Asadidakilerden hangisi yukaridaki
konusmayi dogru olarak tamamlar?

A) | work in an office.

B) | speak English.

C) Ilive in England.

D) [I'm British.

E) Yes, | come from England.

Jane : Won't you have any cake?
Bill e .

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) No, itisn't.

B) Yes, you are.
C) No, thank you.
D) Yes, you will,
E) Yes, I'm.

Carol couldn't go to the party because .............
yesterday.

Which of the
sentence above?

following completes the

Asagidakilerden hangisi yukarnidaki cumleyi
dogru olarak tamamlar?

A) she waslill

B) itis quiet

C) she likes dogs

D) she has a new coat
E) itis size four

izleyen sayfaya geginiz.
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16.

17.

18.

19.

John doesn't feel well. He has got ........... cold.

Which of the following
sentence above?

completes the

Asagidakilerden hangisi yukandaki ciimleyi
dogru olarak tamamlar?

A)  with
B) the
C) a
D) so
E) an

Bob:..........coceennnn. YOu don't look well.
Jane : | have got a headache.

Which of the following completes the dialogue
above?

Asadidakilerden hangisi yukaridaki
konusmay! dogru olarak tamamlar?

A) |s he going to the doctor?
B) What's the matter with you?
C) What has she got?

D) Can you help me?

E) Howis she today?

Bob: Canyou............... a ship?
Bill : No, | cannot.

Which of the following completes the dialogue
above?

Asadidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) ride
B) swim
C) fly

D) drive
E) steer

The cinema is approximately 3 kilometers from
here.

Which of the following can be used for the
underlined word above?

Yukarnidaki ciimlede alti c¢izili sozciigin
yerine asaqgidakilerden hangisi kullanilabilir?

A) about

B) behind

C) alittle

D) also

E) sometimes

A
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21.

A

BOb {usmvmimriniransanineiiaiii
Joe : Tum left, walk 100 meters, it is on the
right.

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) s the post office very far from here?

B) Can | go to the post office by bus?

C) Can you tell me the way to the post office?
D) Are you going to the post office?

E) When will you go to the post office?

Jane . Whose pencil is this?
BOD fnmeiasmersmniasog

Which of the following completes the dialogue
above?

Asadidakilerden hangisi yukaridaki
konusmayi dogru olarak tamamlar?

A) Itis small.
B) It was cool.
C) Itisfine.
D) Itis black.
E) Itis mine.

"When did Jack come to Turkey?"

Which of the following cannot be the answer
of the above question?

Asagidakilerden hangisi yukaridaki sorunun
cevabi olamaz?

A) forthree weeks

B) five months ago

C) in March

D) on the fifteenth of February
E) on Sunday

BUE manartin e
Carol : It is on the table.

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) Have you read that book?

B) Have you got a book?

C) Where's my book?

D) What have you got?

E) Are there any books on the table?

izleyen sayfaya geginiz.
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24,

25.

26.

27.

Bob : How can | get to the museum?
Jane : Youcan go .......ccc....... bus.

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) at
B) on
C) with
D) to
E) by

Mary : Do you enjoy ......cccoeverevevinnnn. ?
Bob : Yes, | do.

Which of the following completes the dialogue
above?

Asadidakilerden hangisi yukaridaki
konusmay! dogru olarak tamamlar?

A) swim

B) can swim
C) swam

D) swimming
E) is swimming

COHK S cmmsmmmmnngimanay
Asli : It's raining.

Which of the following completes the dialogue
above?

Asadidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) Was it snowing yesterday?

B) What's the weather like in izmir?
C) What is izmir like?

D) Is it four degrees Centigrade?
E) Is it winterin izmir?

Mary has been a teacher ................. eight
years.
Which of the following completes the

sentence above?

Asagidakilerden hangisi yukaridaki cumleyi
dogru olarak tamamlar?

A) since
B) for
C) still
D) now
E) vyet

A
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A

completes the

28. Thereis ......ccoovvvnnenn. sugar in the jar.

Which of the
sentence above?

following

Asagidakilerden hangisi yukandaki cimleyi
dogru olarak tamamlar?

A) alittle
B) afew
C) many
D) a loaf of
E) alot

. Martha is very good ................. Mathematics.

She can solve the problems easily.

Which of the
sentence above?

following completes the

Asagidakilerden hangisi yukaridaki ciumleyi
dogru olarak tamamlar?

A) of
B) as
C) with
D) in
E) at

. Jane : What do you do on Sundays?

Billz [isassnsnns play tennis.

Which of the following completes the dialogue
above?

Asagidakilerden hangisi yukaridaki
konugmayi dogru olarak tamamlar?

A) yesterday
B) usually

C) yet

D) already
E) now

TEST BITTI.



